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B a2 |27 B | v=7| v [ =7 B | =7 | | v=7

1 [> AL — 17,195 9,996 13.9 2,942 4.4 883 5.3 3,776  12.2 17,597 9.4 2.3
2 |E R 15,726 9,733 13.5 3,107 4.6 1,454 8.8 0.0 14,294 76| A9.1
3 | 2% 16,224 11,043 15.3 3,146 4.7 104 0.6 0.0 14,293 76| A 11.9
4 |HPE 15,242 3,116 4.3 6,141 9.1 215 1.3 3,598 11.6 13,070 7.0 A 14.3
5 [EA 15,899 7,360 10.2 3,844 5.7 1,770  10.7 0.0 12,974 6.9 A 18.4
6 |FaX 15,099 3,675 5.1 4,168 6.2 30 0.2 3,857 12.5 11,730 6.3 A 22.3
7| 7Va— 9,430 2,673 3.7 2,771 4.1 3,617 21.8 0.0 9,061 48[ A 3.9
8 | == HEhH 7,370 583 0.8 2,998 4.4 0.0 5,218  16.9 8,799 4.7 19.4
9 |~y 9,512 3,163 4.4 3,458 5.1 0.0 1,905 6.2 8,526 4.6 A 10.4
10|74 —FK 8,500 976 1.4 3,949 5.8 498 3.0 3,051 9.9 8,474 45 A 0.3
11|VW 7,482 3,556 4.9 1,742 2.6 148 0.9 1,604 5.2 7,050 3.8] A 5.8
12{v— 7,237 2,632 3.7 1,390 2.1 545 3.3 601 1.9 5,168 2.8] A 28.6
13 | K2V H 3,561 259 0.4 3,107 4.6 1,030 6.2 0.0 4,396 2.4 23.4
14| vy 3,649 553 0.8 2,745 4.1 556 3.4 427 1.4 4,281 2.3 17.3
15|V FA AT — 3,903 7 0.0 2,222 3.3 777 4.7 1,252 4.1 4,258 2.3 9.1
Z DA, 46,101 12,661  17.6 19,845  29.4 4,932  29.8 5,611] 18.2]  43,049] 23.0] A 6.6
et 202,130  71,986] 100.0] 67,575] 100.0 16,559] 100.0]  30,900] 100.0] 187,020] 100.0] A 7.5
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I H 81,435 40.3 71,986 38.5] A 11.6

SUV 69,578 34.4] 67,575 36.1 A 2.9

P FH HE 19,011 9.4 16,559 8.9 A 129

Yo7 32,106 15.9] 30,900 16.5 A 3.8
a5 202,130 100.0] 187,020 100.0 A 7.5
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